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gAFEAR SF5EFEIA6H
e 10:55 9:53 10:42 10:12
KR (m) 25.7 26.7 19.6 55.0
ZEAE (m) 8.0 7.0 8.0 7.0
KE 6 6 5 6
JKiE (°C) == 24.8 26.1 25.3 25.8
5mfE 24.4 24.3 24.4 24.3
10m/B 23.7 23.8 235 23.5
15m/B 22.6 23.0 22.9 23.0
K2 20.8 20.3 22.0 15.4
185 e 27.62 28.92 26.05 29.00
5mfE 33.35 33.52 33.44 33.41
10m/E 33.61 33.65 33.63 33.68
15m/B 33.67 33.70 33.65 33.75
K= 33.76 33.85 33.73 34.00
Fe R B0 FE (%) A= 108.9 1236 111.6 120.8
5mfE 105.1 103.5 107.4 103.6
10m/B 102.7 103.7 100.2 103.7
15m/B 96.2 100.9 98.6 104.0
KR 74.4 90.7 90.1 40.9
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